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1. 5 fefit f&g envse Afwr § 10, 100 AT 100 3% a1 9 IS da-

@ 27+10 (i) 3.35+10 (iii) 0.15+ 10
(iv) 32.7+10 (v) 5.72+100 (vi) 23.75+100
(vii) 532.73 + 100 (viii) 1.321 + 100 (ix) 2.5<1000
(x) 53.83+1000 (xi) 217.35 + 1000 (xii) 0.2 + 1000
2. ©HEHBT At § yes AfuT 378 79T Jd I8 d9-
i) 75+5 (i) 169 +13 (iii) 65.4+6
(iv) 0.121 =11 (v) 11.84+4 (vi) 47.6+7
3. oAHBe Aftyr § enHse At &% 39T Jad I8 J9-
() 325+0.5 (i) 5.4+12 (i) 26.32+3.5
(iv) 2.73+13 (v) 12321 +11.1 (vi) 0.0018 +0.15
4. e wa® & 25 S Tt JarT R 11, 883.75 fe9 ydtet’ | i1 & f€a gant €7 HE
U3T d4 |

5. f€qama 4.5 wifent f€9 276.75 km gt 3w Jaet J | F9 & WA IS AT T 7

44 arfes - Vi
6. Sfeasut yrs
@ 215+10=7

(@) 275 (b) 0.275

€ 2.75 (d) fegt {9 qet &7
G 1523 8ES ... af

(@) 5 (b) 0.05

(c) 05 (d) 45
(i) Wfesr=t 1.1, 2.1 w3 3.1 €t #HI ... T

@) 2.5 (b) 1.1

© 2.1 d 6.3

7. fEq enHsT AftT § 100 &% 3791 J9& '3 eRHE< fie ve uH 28 fEa Aas furaer
J (FT/aT%3)
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Solve, dividing decimal number by 10, 100 or 1000 in the following.

@ 27+10 (@) 335+10 (i) 0.15+10

(iv) 32.7=+10 (v) 5.72+100 (vi) 23.75= 100
(vit) 532.73 + 100 (viii) 1.321 = 100 (ix) 2.5+ 1000
(x) 53.83 = 1000 (xi) 217.35 + 1000 (xii) 0.2 + 1000
Solve, dividing decimal number by whole number.

(i) 75+5 (ii) 169+ 13 (iii) 654 +6

(iv) 0.121 =11 (v)y 11.84+4 (vi) 47.6+7
Solve, dividing the decimal number by decimal number

(i) 325+05 (i) 54+12 (iii) 26.32+3.5
(iv) 2.73+13 (v) 12.321+11.1 (vi) 0.0018 +0.15

25 steel chairs were purchased by a school for ¥ 11, 883.75. Find the cost of one steel

chair.

A car covers a distance of 276.75km in 4.5 hours. What is the average speed of the car.

44

Multiple choice questions
(i) 275+10=7?

(a) 275 (b) 0.275

(c) 2.75 (d) none of these
(it) The valueof 1.5+ 3 1s

(a) 5 (b) 0.05

(¢) 0.5 (d) 4.5
(iii) The average of decimal numbers 1.1, 2.1 and 3.1 is

(a) 2.5 (b) 1.1

(e) 2.1 (d) 6.3

Mathematics - VII

On dividing a decimal number by 100, the decimal point is shifted to the left by one place.

(True/ False)
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